LESEERRTSRA

F1H GEEMIL 40 7

—. BEE (KXELHE 16 NME, L4053 . BPEREF-METFEER. 1-8/MNET
B 25y, 9-16 /NESRE 3 )

Rs) 1 2 3 4 5 6 7 8

ER B D D B C C D B

RS 9 10 11 12 13 14 15 16

ER D A C B A A D C

FH FREEHL 60 57
Z. ETE (REAHE4NMDE, L2653 BE2D
17. (643> (1) 3NOy (2) COs>  (3) +3
18. (643 (1) &E: (2 t& (3 BEWTBRY
19. (643> (1) fEEK  Hih (2) +6
SR

20. (84r) (1) NaCO;  (2) CH4+20,=—CO,+2H,0  2NaOH+CO,=Na,CO3+H-0

(3) B p
=, TRHRFAE (FEEHE 2 NMME, 2450 BFE2)

MnO,
21. (10 4y) (1) 5 (2) 2H,0,=——=2H,0+0, 1

(3) F E et KBRS, EARKER, M.

22. (1443) (1) F  Fey03+6HClI===2FeCl;+3H,0
(2) NaCl Na,COs, —
(3) WithiR AR

9. THEE (ZELHE 1 ANMDME, 105D

23. (1043 (1) (24) 44

(2) i Wik BRES I i & x 14y
CaCOs;+2HCI=CaCl, +H,0 +CO,1 243

100 44
X 4.4g 145
100 _x x=10g 15

44  44g
10
RS IR0 — ;g x100%=80% 24
D8

B BRIRES 1= BN 80%.

H
N
P



